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LESSON 5.1

Practice C
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Use (WXY, where R, S, and T are midpoints of the sides.

1. [image: image4.png]


║____

2. ║____

3. If RT ( 7, then XY = ____.

4. If TY ( 4, then RS ( ____.

5. In the diagram,
  and
   are midsegments of (LMN.  Find MN and ZY.
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6. In the diagram,         and
   are midsegments of (ABC.  Find DF and BC.
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7. Error Analysis Explain why
    is not a midsegment of (ACE.
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Use the diagram of (ABC where D, E, and F are the midpoints of the sides.

8. If FE = 6.5x ( 10 and AB = 3x ( 20, 
then AB = ____.

9. If DF = 3.5x ( 6 and BC ( 3x ( 36, then 
DF = ____.
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